D1vISION WITH A REMAINDER II (H - SET 2)

brvision Name:
Time: Score: A
N 7943 - 10 = 1) 7330 +1 =
2 3593 + 10 = 1778093 + 8 =
5 871 =5 = 18) 43358 =7 =
12196 +5 = 19) 29919 =+ 3 =
522872 +3 = 200 5291 + 1=
6 27259 + 3 = 2 4885 + 10 =
no18825 + 7 = 2 1773 +10 =
540691 =6 = 2 1298 + 5 =
9 57046 =9 = 2) 3339 +5 =
1) 3874+ 7= ) 3327 +5 =
6288 + 10 = 200 19236 =4 =
12) 8901 =+ 10 = ) 52312 + 10 =
13) 2036 =5 = 28) 32136 =5 =
1) 4837 =5 = 29) 26921 = 10 =
15) 27914 + 4 = 00 1777 +1 =

Mathematics: Division - Level 8 - Horizontal - Set 2
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